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“what Do You Call a Female Bug That Floats?
Graph -the solution for each exercise. Find your answer in thc answer column,
then write the letter of the solution in the box containing the exercise number. A
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" QOnswers for Exercises 1-8 '
. -4 -3 -2 -1 0 1 2 3 4
: . 4 -3 2 -1 0 1 2 3 4
g-5<x-5<-3 [ . P <t —————— >
’ NV 4 -3 -2 -1 0 1 2 3 4
4 1<4x+1<17 ?( R i e sy et
, - 4 -3 -2 -1 0 1 2 3 4
E1<-2x+7<9 | Y et >
, | , 4 -3 2 -1 0 1 2 8 4
6 3x —1<—7 or 4x +9 213. I T < bl —— A ———>
| -4 -3 -2 -1 0 1 2 3 4
7 —6x >15 or x =5 > -6 § bt — >
' 4 -3 2 -1 0 1 2 3 4
8 4 —15x >4 or 12x > 36 [T || sttt
’ 4 -3 2 -1 0 1 2 3.4
— > - ' A sy il
9_3x+10_160r9 x<7 N Tt 5 5 4
X > ¢ - > ‘ e o S S S N
(‘10222and5 2x 28 G S 3 92 1 0 1 2 3 4
\f/ 11 8 < 8 _,]§~x <9 & - - (nswers for Exercises 9-15
' ) G < prmmmimmfemmmmmay———————>
{2 —6x —1>5 or 11 +4x 219 /& 43 -2-10 1 2 3 4
A by —— |t
‘ ) 4 -3 2 -1 0 1 2 3 4
13 Today in Anchorage, the expected low — Lt e
temperature is —8°F, and the expected S 4 -3 -2 1 0 1 5 3 4 >
high temperature is 12°F. Express this N B <ttt
rangeasa compound inequality. . o 1 S 1 9: : g
14 Flix Theater has a reduced ticket price for R < @il >
children who are at least 2 years old but -12 -9 -6 -3 0 3 6 9 12
less than 13 years old. The same price is N < ittty >
given to seniors who are at least 65 years P\ 12 -9 -6 -3 0 3 6 9 12
old. Model these ranges on a number line. L < fo—tre——F—+—+— -
' ' 0 10 20 30 40 50 60 .70 80
15 Your heart rate rises when you exercise. R < fomt————— A——
During aerobic exercise, your heait rate C) 0 10 20 30 40-50 60 70 80
should be at least 0.7(220 — a), but no e e
more than 0.85(220 — a), where a is your 0 Wléo T 160 | 170 ad 150
age. Find the target range if you are 14 .
years old. G < sy |—— >
, 140 150 160 170 180
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